FeFH - e FAYE T 32

Bk B 6

,?WaiLa

[114# 107 20 p 54— (

w10 A
1 E &Y
1 E &
1 E &
1 B A3
1 #
A

-

ER LR RS O kI
g 4B TRAF (B2 L
IER 15 R JC:
BAFET L
Bt 4 BITRAF (B 2 E
Bk PR AR (BT R L
RS Sk
R 30 JC- P

Bk 4 g (BeF 2 ]

’)’"‘ %)'T_I 13@\!”'10"”\@'&‘7]

IEFSE RS

- 10

- 10

- 10

: 05

- 05

- 05

- 00

- 00

- 00




Pl 2 A EAY RN 2 ERATH ¢

9P AL

[114# 102 21 p A= (%= 2)T = 1310 4 F4]

% Y

L EE 10 A D EEHE B L

IR 3358 dCakiln
B AR F B
Bk A g R (B 2
Bk A TR (B 2
Bk A4 R FE (B 2

E R LR o R

2 AT A (B f

4 P (B

PEAFE)

- 10

10

10

05

- 05

- 05

- 00

- 00

- 00



FeFD 2 ACRAPEY 2 ERAEER ¢

% P A% &

[114# 10 % 20 p B8 - (% - 2 )T = [38 154 F 4]

100 \'HF% L3 13: 003 ERFH & e

L= #ssd 100mIiEF. ... 13 15
(& 4 B3P Pk L5 g)

2.- &% T4 100mMIFEF. .ot 13 : 25
(A 4 w3tps s b i r,gqét/i.%)

oA FEELD T00mEF. ..o 13 : 35
(& 4 23 pF o b 254 g)

4 ~#% T4 100mEFE. ... 13 : 45
(& 4 fe3hp o Podc s &b g )

oot FBAD T00mEF. ... 13 : 55
(&~ 4 fo3tpF o B ifr @z;juc;i—%)

6.4 #5F 2 100mEF. ..., 14 : 05
(A 4 23 pF o BB LS4 g)

NES 200400 ARFFHFEEND14:063 74 SFFNB P E0 B LRk
7.4 & 5*2 200m“% ........................ 14 2 15
(& 4 lepF o bR & 5tb )

8.4 #&T 2 200mEF......., 14 = 25
(A 4 ezt BB £ sut,L%)

0.4 #5t2 A00mEF. ... 14 = 35

(A 4 eztpF o BB £ sut,L%)

10,4 #5532 400m ... 14 50
(A 4 w3 pF o BB LS4 g)




B 2 A FSC B R 2 ERAES ¢

<<< ‘2"
% ¥ %

[114 #1072 21 p p B = (%= X )T = 13815 4 B 4]

200 2 FFFLN13: 053 74 23 WA HH B Liesr

Il #s*2 200 EF. ..o 13 15
(& 4 23 pF o b L 54 g)
12. - #5984 200mFEF.....oooo 13 25
(A 4 3t p s Bboipr L fdokf)
13, ~#F&x4 4 200mFEF....oooi 13 :35
(& 4 fm3rpr o BohoBr L g k)
14. ~# %9 4 200m%mﬁ? .......................... 13 45
(A 4 3 p s BB L4k f)

400 > FFFEFE 13663174 o3 LR IFP B Eipsk

15, = #B~2 400mFFF. ... 14 205
(& 4 mpr o Bhofr bRk R)
16 = #5532 400mFEF. ... 14 2 20
(& 4 o b B L Rd k)
17~ #F5Ad A00mFEF...ooo 14 35
(& 4 B3P P L 54 g)
18 ~#% 8 4 400mFEF......oooi 14 : 50

(& 4 e po Bh B L5k )



Pl 2 A EAY RN 2 ERATH ¢

[114# 10 % 22 p 28 =(%= =)+ = 8800 & F 4]
800 = AFEL 07003174 o3 (> H | & bk
1500 = % AFEL3 09 0 X EFaHFGP 5 & &b
19. - 2> 4 800miAF. ... 08 : 05
(& 2 m3p > Bh s L)

200 - #%F 4 800mitF. ... 08 : 20
(& 2 3P b LA )

21 ~#BL 4 Q00mid-F. ..o 08 : 35
(A 2 3 Bohb i L)

22.~FBF A B00mit-F. ..o 08 : 45
(& 2 fmztpro b LA )

2.4 F&bH4 800maAF. ... 08 : 55
(& 2 e3P Bh i LAEf)

24,4 %94 800miAF. .. ... 09 : 10
(& 2 E3ps Bdb i LAE )

1500 2 ¢ FFRFE£2009:15 3 B3RP H 5 £ sk

20, &% 94 1600miEF. ... 09 : 25
(& 2 w3 p > B ifr 251 )

2600 ~FBF A IB00mAF. ... 09 : 40
(& 2 m3ps> B i LAffE)

27,4 #% 5 4 1000mA-F............ ... 09 : 55
(& 2 m3pso> B ifr LAffE)




FeFD 2 ACRAPEY 2 ERAEER ¢

“‘?EB 2 2

[114 # 11 " 7Tp 287 (BEH)T = 13805 » B 4]
100 &> A FEL 14: 303 | EpI» § £ todk

28. = Fot A J00mAFE. ... 14 : 40
29. - #%94 100miAdZ. ..o 14+ 42
30, M EBA A J00mAFE. ... 14 : 44
Jl.~#E%F 2 100miAd-Z. ... 14 : 46
2.4 Fo+2 100mA-ZF. ... 14 : 48
3.4 #F&F 2 100miAd-ZF. ... 14 250
200 > A-FEE 14:50 3P4 o3 FS 3 FP R LRk

.= Fotd 200mAFE. ... 15+ 00
3. - BT 4 200miAdF. ... 15+ 02
36. M E oA 200miAdF. .. 15+ 04
3. ~FE BT 4 200mid-Z. ..o 15 : 06
3.4 Fotd 200miAFE. ... 15:08
39.4 #%F 2 200miA-FF. ... 1510

400 2 AFES 15:00 A2 P4 23BN B HH B LA

40, - o4 A00miAdF. .. 1515
41, - #2594 400mid-F. ..o 15 : 20
2.~ F Bt A4 A00midF. .. 15 : 25
43 ~EF 5T 4 A00mid-F. .. 15+ 30
4.4 Fotd A00midZ. ..o 15 %35

45,4 #5554 A00mid-F. ..o 15+ 40



